MSA—BT1-B—-GB—

PULLEY PITCH DIAMETER

33.42mm (1.316”)

PULLEY WIDTH

16.3mm (.640”)

PULLEY MATERIAL

STEEL

BELT WEIGHT (kq)

((TRAVEL IN METERS x 2)+.51) x .04

TRAVEL PER REV. 105mm
TRAVEL MIN. 150mm
TRAVEL MAX. 5825mm

CART/PUSHER WEIGHT (kq)

(TRAVEL IN METERS x .45) + .48

SYSTEM WEIGHT (kg)

(TRAVEL IN METERS x 1.8) + 2.1

L

ENTER
TRAVEL IN INCREMENTS OF 25mm
SELECT

DRIVE SHAFT LOCATION>
SHAFTING TYPE

AO=SINGLE SHAFTED
BO=DOUBLE SHAFTED

NOTE: QF "B” IS USED THE NUMBER WILL
DESIGNATE POSITION OF SHORT SHAFT,
SECOND SHAFT WILL BE 50.8mm LONG.

i G.)
AM=SINGLE SHAFTED W/ MOTOR MOUNT
BM=DOUBLE SHAFTED W/ MOTOR MOUNT

M6x1.0 — B6H ¥ 8.0
2x NEAR SIDE
[] 2% 2x FAR SIDE
\ \
i—‘ \ \
| /) /)
1 \\ \\
- —
_L il [N
7
22.4 ( (
_*— \ i
Al gess
1%
84.0
—— (38.93) p=—
b SIS s 2540 ~ pes
M4 S.H.C.S. —13.50
M ||
- M
J o ] 0 = i Loy - o @
56.0 \ ° 3 J ° 31.75 44.5
51.6 J—l— , Ol ( I{®) (e} (o]
' Vo — - Y 77.4
28.0 Vo il :
; 1] _ 4 D o /
1 {
L 4 x M6x1.0 — 6H ~
44—' 4.4 vl THRU ALL V@\I
28.0 f=—
51.6—=] —— 28.0 |-
56.0
ACTUATOR LENGTH = TRAVEL 4+ 285mm
—_ PHW E11/26/2017 |MATERIAL TITLE:
—— = DD/MM/YYYY
= - MACRON
APPROVED: e THRUSTER
MACRON DYNAMICS INC 5
DATE: THI SURFACE FINISH SCALE__1:1_ ] SHEET SIZE__C
3o A W fouT NoTE. THIRD ANGLE PROJECTION 1 OF 3 MSA—BT1




DOUBLE SHAFTED
PULLEY

2 X M6x1.0 — 6H ¥ 8.0

4 x CLEARANCE HOLE

/ FOR AN M4 SCREW

' 56.0 slg 560
46.0
i
10.0
}
28.0
51.6
56.0
ACTUATOR BODY
T—SLOT MOUNTING
FEATURES -
56.0 |
17{}} 1
I =
L ] 7_"
Lo _ : _
- 85 = = PHW 1 11/26/2017 R PULLEY ASSEMBLY
- e
R SHAFTED, 3/8
28.0 MACRON DYNAMICS INC i
THI SURFACE FINISH SCALE 141 |SHFFT S\7FPE C
=Y e SHEET PART NUMBER REV
SPECIFICATIONS ARE SUBJECT D\N’ENS\OE&TA\FP\A?EG% E;P/\DYPAFF[FEESF‘N\SH\NG 2 OF‘ 3 MSA—BT1
70 CHANGE WITHOUT NOTICE THIRD ANGLE PROJECTION




CUSTOMER ACCESSIBLE
MOUNTING FEATURES,
END PLATE

84.0

— 10.25 63.50

6.355— — 9.53 =

31.75

4 x @ 5.00 THRU ALL
M6x1.0 — 6H THRU ALL

PHW DATE: 4 1/26/201 7 |MATERIAL: TITLE
g PUSH PLATE
—= e DO/MM/YAY L LML JIG PLATE
FINISH:
MACRON DYNAMICS INC BLACK ANODIZE
SURFACE FINISH \/ SCALE__1:1 [ SHEET SIZE__C
BREAK ALL SHARP EDGES SHEET PART NUMBER =
DIMENSIONAL LIMITS APPLY AFTER_FINISHING| 3 OF 3 700122403
THIRD ANGLE PROJECTION






